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#include <iostream> #include' <iostream> N . . ! .
intx =1 ; intx={; : #include <iostream>
int main( ) { int main( ) { intx =10;
inty =2; inty =2 . L int fun (int &a, int b);
{intx=3; { cout<<x + y <<endl; /E}E 3) int main( ) {
cout << x +y << endl; //EU.EB {1 2 x=3;) A ’ : inty =ZQ; \
x=4;y=5;} T cout<<x+y<<ead; /s (4) { cout << x +y << endl; /ENH _(,_)__
cout << x +y << endl; /E[LH (2 return 0; . cout << fun(x, y) << endL/EfI (2)
return 0; } }
} cout << x +y << end}; //E[I4 _(1
(10%)2. 45" FFURTES C + + 23005 - WERR TR ERNER: teturn 0;
#include <iostream> #include <iostream> }
int main () { - “int main () { int fun(int &x, int y) {
intx =1, y=0, z=4; intx =2, y=0, z=4; x=20;y=30;
if(x && y) » if(z=0x &&ly) _ return (x+y); }
y=13: if ('z)
else y=1 #include <iostream>
S z=2 clse intx =10 ; !
cout << x << endl;/EJIH \( D x=2 . . int fun (int a, int b); !
cout << y << endl//Ep ¢ 1) cout << x << endl/E[IH4 (4 int main ) {
cout <<z << endly/pyy  ( 3) cout <<y << endl;//E[ILY _(L - inty =20,
return 0;  } | cout <<z << é"d';,//Eij ﬁlL ’ {cout << x +y << endl; HENHS _(ﬂ_
return 0; } cout << fun(x, y) << c\;dl;//E[],'_{j ‘5“)
(10%)3. KA FFIRTER C + +125tEg » TR IERE K y=40;
3R x=1Ly=2,2=3 QITHE I2ERx=1Ly=2,2=3 QITFLERRI NS v, ‘ } -
FABENBREDVLEZWE | | 2 HBRSD? (LR BEBAWR AN, i cout << x +y <<ends e, _(6)
WRMRILER, HILFiEm) 1E0R) return 0;
Loxtt byt () ) Lox++ + y++ (x= (4).y'= (s) ,Z= (6 ) )
2. 44x -z ( (> ) 2. 445 -z (x=(q) y=1(8) yz=(4) ) int fun(int x, int y) {
3; X tyr+ (_Q_.) 3. X + y+t =L, y=(l1) ,z=_(12) ) i x=20; y = 30; return (x+y); }
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int Q_L table;

table = new int* | ) L

(ltablc= new int ﬂ;
(i(lablcﬂ) =new int Sﬂ_; .
(_'17_(¢ablcn)=ncw int (8,
() (ables3y= _(19) |
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#include <iostream> #include <iostream>

int main(void) { E int main(void) {
inta[5]={1,2,3,4,5); inta[5] = {2, 4,6, 8, 10};
cout << a[0] << end}; /EIH _@_ cout << *(a-+1) << endl; /ERL ﬂ
cout << *a << endl; /EIH4 (*1) cout << *a+1 << endl; /E[IIH, __iL
int *p = &a[0}; int."p =a+l;
coutz‘<< "p)<< endl; /E[1H4 (‘2«)_ cout << p[0] <« endl; //F[I ﬂ_)_
cout << *(p+1) << end!; /EIH _(_[i'_)_ cout <<p[1] << end; /ENY (&)
return 0; return 0;

(10%)7. L C 3 CH AR A — R EIE, BR FHIRN.
L gt
2. Gt
3. AR
4 K%
HOSBEMA 1365, T8 5 BURIR: (U2 2005 4 XX B8] (Rch XX 535

URRTEE, IFAT, 1%

ARD), EEBA 41, EARERRT, RIOODARGRET: MAKLE WEFBE, REos

EMENESHIRA, EEHA 4 B

(15%)8. Ll CH CHEAFIRE —MIZAME HERA N (12 AEA

BRATRURE R, B -

M. HHMEMA 2 B(E N=2), RURTE LIRS AR D BIA 3 % 12 / IR,

.

B0 EIF
H5—%E:23 34 43 56 32 45 78 90 16 28 98 65
HITH: 34 36 47 5539 5543 12 28 94 65 56
Mtk FMHMARITERRLUTSH BRI
¥ 1 2 3 4 s 6 7 8 9 10

12

. -8 23 34 43 56 32 45 78 90 16 28 ' 99

fBom 34 36 47 55 39 55 43 12 28 94 63

65
56

(L8 ARRALIR SRR IRACE 5 R Bkt 5 AR R RO LTS OB BETT 22

(15%)9. mF%%Fs‘imf!_fﬁ@F%miﬁﬁ.ﬁ?s(ISBN)f’PﬁEﬁB‘JD&—bﬁ%
ISBN B—MBRERS 10 897558, 1800 T

BIIB(L )-SR (2 15)- B (6 18)- A1 1), i, 0-07-021604-5. FER: it —BIREL
BEILUE x (AR 10. (R, ISBN 06FFREMIEMEY, 0SB ISBN S9IMIEL

FUR 11 B9ISH. HIHEE ST LT
fu@: 1 2 3 456789 10
fE: 10 9 876 543 2 |

Bign LY 0-07-021604-5 BN RL: 0% 10+0X9+7x8+0x7+2x6+] X5+6x4+0X3+4x2+5x =110,

smucgac++sg’é§zg—rm‘gitwm%émmx~@ isbn FE(10 fRIRFHA,
VIl —BEEEt bool hISBNQ) MR isbn METR AN, BN
FIMYIE false. '

WERT I A), i
B E true, B

e

\\






